Akersberga BS
VIBEKE 2021-11-16

Partavling, 7 bord, 14 par. Antal brickor: 24. Medel: 144.0.

Plac Par Poang % Namn MID Klubb
1 7 175 60.76  Sven Mellgvist - Maud Heleander 50225 11406 Akersberga BS
2 11 172 59.72  Yngve Frolander - Hans Ohrling 14452 25090 Akersberga BS
3 5 166 57.64 Ove Jansson - Inga Nyberg 9090 33178 Akersberga BS
4 14 163 56.60 Sven Alenius - Gunilla Ostervall 54714 9131 Akersberga BS
5 3 160 55.56 Ann Varcoe - George Varcoe 62266 62267 Akersberga BS
6 1 157 54.51  Ulf Tragardh - Klas Holm 60283 17148 Akersberga BS
7 13 156 54.17 Roger Jaderberg - Carl-Johan Tersmeden 54330 55579 Akersberga BS
8 8 146 50.69 Brita Vasthagen - Ulla Holm 61232 54331 Akersberga BS
8 12 146 50.69 Kerstin Fernbrink - Ulla Lundh 60281 60275 Akersberga BS
10 9 140 48.61 Helga Gauert - Jan Skaring 60280 59955 Akersberga BS
11 4 139 48.26  Margareta Sjogren - Ulla Lindstrém 59271 59786 Akersberga BS
12 6 122 42.36  Inger Forss - Irene Edstrom 38882 28486 Norrorts Bridge - Akersberga BS
13 2 92 31.94 Lena Bjon-Aaltonen - Jan Holm 2602 54966 Akersberga BS
14 10 82 28.47 Irma Hagerstedt - Anna-Greta Berg 33220 49605 Akersberga BS
1 4 KKn1054 Basta kontrakt 2 4 E43 Basta kontrakt 3 & EKn532 Basta kontrakt
Nord v 975 6¢ N =920 Ost v K52 34 O =-140 Syd vD 34 S =140
Ingen ¢ EK53 NS ¢ DKn7 ov + D94
&D & ¢ v & NT #8742 & ¢ v & NT #10942 & ¢ v & NT
«D 4987632 N 9 129 9 10 4 KDKn102 4875 N3 4836 4KD98 4107 N9 5798
vKKn108 vD32 S 9 129 9 10 v 106 vE8 S 34836 vKn72 vK953 S957 938
+ 864 ¢ 109 0314141 + EK10 49654 098596 ¢32 ¢Kn108765 O 3 7 6 4 5
#K8765 #94 V31441 #Kn106 2KD93 V985096 #E653 &K V37645
o E 496 464
vE64 v DKn9743 v E10864
¢ DKn72 + 832 ¢ EK
#EKn1032 #E5 #DKn87
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéng
2 5 3NS+2 v6 460 11.0 10| 3 11 INO-1 v3 50 11.0 10| 3 6 INS+2 48 150 12.0 0.0
3 11 3NS+2 «6 460 11.0 10| 8 14 INO-1 v3 50 11.0 10| 4 12 34S+1 48 130 100 2.0
8 14 3NS= v8 400 70 50|12 7 INO= v9 -90 80 40| 9 14 24S+1 4K 110 8.0 4.0
9 10 3NN= v2 400 70 50| 9 10 24 V= +J -110 6.0 6.0[/13 2 INS= 48 90 6.0 6.0
12 7 3¢ N+3 «9 170 40 80|13 1 14 O+2 ¢J -140 40 80| 1 8 3NS-1 3 -50 3.0 9.0
4 6 3¢ S+2 +Q 150 20 100| 2 5 4eV= vK -420 1.0 11.0( 5 7 3NN-1 ¢5 -50 3.0 9.0
13 1 6NS-4 vT -200 0.0 120| 4 6 44 V= v2 -420 10 11.0|{10 11 3NS-2 +3 -100 0.0 12.0
4 & K753 Bésta kontrakt 5 » ED5 Bésta kontrakt 6 & Kn8732 Bésta kontrakt
Vast vKn1072 3NT N =600 Nord v K108732 INTN =90 Ost vED84 5¢ O =-600
Alla ¢ E NS ¢ 954 ov + 86
*D972 & ¢ v & NT &D & ¢ v & NT #63 & ¢ v &N
4 EDKn 4082 N9 6989 4 K9 4 Kn8742 N6 7767 4 EK «D10 N22572
v D94 vK5 S96 989 vDKn94 vE S67767 v10953 v72 S22572
¢ Kn10764 ¢ 8532 047 3 44 +K7632 +D8 06 6565 ¢E742 +K10953 O 10118 6 9
«105 #E843 V47354 #Kn3 #E8765 V665675 #EK9  &DKn105 V 10118 6 9
41064 41063 49654
v E863 v 65 v KKn6
+KD9 ¢ EKn10 ¢ DKn
#KKn6 #K10942 #8742
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
4 12 2v S+2 s] 170 12.0 0.0|14 10 2v N+1 vA 140 120 00| 4 7 INV+2 a2 -150 11.0 1.0
1 8 3vS= 4A 140 90 30| 4 7 3NV-2 v2 100 10.0 20|11 12 1¢ O+4 &8 -150 11.0 1.0
13 2 2vy N+1 49 140 90 30|13 3 240-1 v6 50 80 40| 6 8 2NV+2 43 -180 8.0 4.0
5 7 2NN= 3 120 6.0 60| 2 9 Pass 50 70| 5 1 2vS-4 oA -200 6.0 6.0
10 11 2v S= +J 110 40 80|11 12 Pass 50 7.0|13 3 INV+H4 a2 -210 40 8.0
3 6 Pass 20 100| 6 8 2vy N-1 +8 -100 20 100| 2 9 3NV+1 43 -630 1.0 11.0
9 14 3vS-1 &T -100 0.0 120| 5 1 4vyN-2 s] -200 0.0 12.0|14 10 3NV +1 a2 -630 1.0 11.0
7 & K9532 Basta kontrakt 8 41032 Basta kontrakt 9 & K652 Basta kontrakt
Syd vD1097 54 S =650 Vast vE9 2NTV =-120 Nord v 765 INT O =-90
Alla ¢ EK Ingen + D8764 ov + KDKn106
*Kn4 & ¢ v & NT D93 & ¢ v o NT &9 & ¢ v &aN
«Kn4 4108 N 5 8 11115 s~ E8 4 Kn96 N565765 4 E1073 4Kn98 N56 765
vEB3 v385 S 5 8 11115 v10632 vKKn7 S56575 vE v KKn84 S 6676 6
4108752 +94 085214 + K93 ¢ EKn5 086 76 8 498754 ¢ E3 077577
+D92 #EK108765 V 8 5 2 1 4 210742 #EB865 V86768 #KKn3 #10764 V77577
«ED76 4 KD754 «D4
v KKn42 v D854 vD10932
¢ DKn63 + 102 2
3 *KKn #ED852
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
3 10 44 N+1 A 650 80 40| 3 10 24 S= T 110 11.0 10| 8 10 2NV-3 T 300 120 0.0
6 2 4v S+1 «Q 650 80 40| 7 9 24S= «7 110 110 10| 1 2 INO-2 #2 200 9.0 3.0
12 1 44 N+1 A 650 80 40| 6 2 340-2 K 100 8.0 40|12 14 2¢ V-2 «9 200 9.0 3.0
13 4 4v N+1 «A 650 80 40| 5 8 24S-1 v2 -50 50 7.0| 7 3 2v S+l 4A 140 6.0 6.0
14 11 4v S+1 %2 650 80 40|13 4 24 S-1 *2 -50 50 7.0| 4 11 2v S= +9 110 40 8.0
5 8 64 N-1 SA -100 20 100|122 1 240= a7 -90 10 11.0(13 5 2¢ V-1 «9 100 2.0 10.0
7 9 5¢S-3 vA -300 0.0 12.0|14 11 INV= *4 -90 1.0 110 6 9 3NN-3 48 -150 0.0 12.0
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10 4 EKn1084 Basta kontrakt 11 & EK2 Basta kontrakt 12 4102 Basta kontrakt
Ost v EK982 6y S =1430 Syd v4 24 V =-110 Vast v K10 2NTV =-120
Alla +D3 Ingen + E105432 NS 4109853
3 & ¢ v & NT «D108 & ¢ v & NT 210874 & ¢ v & NT
«K9752 D63 N 6 11129 10 «DKnl0 49876 N57 655 K874 « D53 N4 4754
v54 v Kn7 S 6 11129 10 vE10986 vD5 S57656 v Kn6 vE9%4 S 44754
¢ Kn865 ¢ 10 06 2042 + K6 ¢ Kn98 076787 ¢+ D4 ¢ EKn762 088578
#DKn  #E1098542 V 6 2 0 4 2 #K53 *E972 V7617287 #DKn952 #E3 V88578
a- 4543 4 EKNn96
vD1063 v KKn732 v D87532
¢ EK9742 ¢+ D7 +K
*K76 #Kn64 *K6
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
7 3 49y N+3 43 710 11.0 10| 5 12 2¢ N+1 vQ 110 11.0 10| 7 10 2NO-3 v2 150 11.0 1.0
13 5 4y N+3 ¢T 710 11.0 10| 7 10 2¢ N+1 #7 110 110 10|13 6 3NO-3 v2 150 11.0 1.0
1 2 4v N+2 *A 680 60 60| 2 3 2¢ N= vQ 90 80 40| 8 4 2vyS= ¢4 110 80 4.0
6 9 4y N+2 A 680 60 60| 8 4 2vV-1 & A 50 50 70| 1 14 2¢vS-1 a7 -100 40 8.0
8 10 4y N+2 A 680 6.0 60|13 6 2vV-1 ¢ A 50 50 70| 2 3 2¢vS-1 +4 -100 40 8.0
4 11 4v N+1 *«Q 650 20 10.0| 1 14 3¢ N-2 *2 -100 20 100| 5 12 3vS-1 +Q -100 4.0 8.0
12 14 5#DN-4 +A -1100 0.0 120| 9 11 2v V= ¢ A -110 0.0 120| 9 11 INO+1 ¥3 -120 0.0 12.0
13 484 Bésta kontrakt 14 aE72 Bésta kontrakt 15 « EDKn1097 Bésta kontrakt
Nord v KDKn653 44 O =-620 Ost v 863 4¢ S =130 Syd vD 7v V D -51100
Alla ¢ EK Ingen + E1073 NS + E1074
#1095 & ¢ v & NT #732 & ¢ v & NT *D6 & ¢ v & NT
« DKn953 & EK10 N3 3733 4Knl05 &KD4 N 4 107 8 5 46 45432 N 129 5 129
v107 vE S33733 v DKn9 v 1072 S 4 107 8 5 v 85432 v EKKnN9 S 129 5 129
¢ 9532 ¢+ Kn764 O 9 106 108 465 ¢+ K8 09 3556 + K52 ¢ DKn3 014811
»E3 #DKn862 vV 9 106 108 #EDKn54 #K10986 V93556 #8432  #K5 vi4dasgill1l
762 #9863 K8
v 9842 v EK54 v 1076
+ D108 ¢ DKn942 + 986
*K74 *- #EKn1097
Par Kontr Ut Res Poang Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
3 4 29y N+1 aA 140 120 00|14 2 3NV-4 ¢3 200 120 00| 7 2 24 N+4 vK 230 110 1.0
6 1 4e4V-1 ¢A 100 90 30| 8 11 54V-2 ¢A 100 100 20|14 3 34 N+3 vA 230 11.0 1.0
8 11 44 V-1 ¢A 100 90 30|13 7 4aV-1 ¢ A 50 80 40|13 8 34 N+1 vA 170 8.0 4.0
13 7 24 V= ¢ A -110 6.0 60| 3 4 Pass 50 70|10 6 2v S+l A 140 50 7.0
10 12 34 V+2 ¢ A -200 3.0 9.0|10 12 Pass 50 70|11 1 34N= vA 140 50 7.0
14 2 3vy N-2 s A -200 30 90| 6 1 3&V= & A -110 10 11.0| 9 12 2¢ N= vA 90 2.0 10.0
9 5 4y N-3 s A -300 0.0 120| 9 5 3#V= a A -110 10 110 4 5 34 N-1 vA -100 0.0 12.0
16 & DKn2 Basta kontrakt 17 494 Basta kontrakt 18 4 E73 Basta kontrakt
Vast v K432 3v N =140 Nord v Kn8 2NT N =120 Ost v4 5v OD-1100
oV ¢+ E753 Ingen ¢ EK2 NS + D65
»K4 & ¢ v & NT #D109762 & ¢ v & NT #KKn9732 & ¢ v & NT
«E87 4K1064 N8 8 9 8 8 #K10863 4 Kn5 N9 7 888 « KDKn106 4842 N 11103 3 7
vDKn5 v98 S 889838 v 972 v D106 S 978838 vEKKn972 v D105 S 11113 3 7
+982  +D1064 055455 49875 + Kn106 045555 +98 ¢ 10732 O1 2 108 2
#E962 #1087 V55455 5 #EKKn83 V45555 *- *1084 V12108 2
4953 «ED72 495
vE1076 v EK543 v 863
¢ KKn ¢ D43 ¢ EKKn4
#DKn53 *4 #EDG65
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
13 8 2vS+1 &7 140 120 00|12 2 14DO-3 42 500 120 00|12 2 54DS+1 4K 950 12.0 0.0
4 5 4y N-1 *T -50 6.0 60|11 7 3NN+1 A 430 100 20| 4 14 54S= vA 600 10.0 2.0
7 2 4vS-1 *2 -50 60 60| 5 6 3NN= *A 400 80 40|10 1 5vV-1 s A 50 8.0 4.0
9 12 49y N-1 +4 -50 6.0 60|13 9 34S= &5 140 60 6.0 5 6 3vV+l *2 -170 6.0 6.0
11 1 4vy N-1 LY -50 6.0 60| 4 14 24 S= 5 110 30 90| 8 3 4vV= s A -420 2.0 10.0
14 3 4vy N-1 a4 -50 60 60| 8 3 24S= #5 110 30 90|11 7 4y V= *2 -420 2.0 10.0
10 6 3NS-2 a7 -100 0.0 12010 1 1aV-2 ¢A 100 0.0 120|138 9 4v V= & A -420 2.0 10.0
19 « DKn Basta kontrakt 20 aE2 Basta kontrakt 21 + E85 Basta kontrakt
Syd v KD64 3v SD-1-100 Vast v 106 3s4 V =-140 Nord vD10974 5¢v N =650
oV + D95 Alla ¢ EKn1073 NS ¢ Kn52
#EKn43 & ¢ v o NT *D876 & ¢ v o NT #92 & ¢ v o NT
4E9842 #1053 N75856 4D8743 4 K109 N575 44 46432  4Knl097 N9 6 116 8
v72 v 95 S75856 vKn432 vD85 S575 44 v32 v K8 S 96 116 8
¢ E1074 ¢ KKn63 06 8585 ¢- ¢ KD952 07689 8 +873 ¢ EKD104 046 274
*K9 #D1052 V68585 #KKn103 #E9 V86898 #Kn875 #D6 V46163
« K76 # Kn65 « KD
v EKn1083 v EK97 v EKn65
*82 + 864 + 96
*876 #542 #EK1043
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
11 2 2vyN= v9 110 120 00|11 2 24 O-1 vA 100 120 00| 1 9 2v S+2 +3 170 8.0 4.0
5 14 3vy N-1 *2 -50 70 50| 9 4 1e N-1 *A -100 100 20| 7 8 2vS+2 ¢3 170 80 4.0
9 4 4y N-1 +J -50 70 50|12 8 1a V+l vT -110 80 40|12 3 3vy N+1 ¢A 170 8.0 4.0
12 8 4vy N-1 +K -50 70 50(13 10 2NV= *7 -120 6.0 6.0(13 11 1v N+3 ¢K 170 8.0 4.0
13 10 4v N-1 +6 -50 70 50| 1 3 24V+1 vT -140 30 90|14 6 3vy N+1 ¢A 170 8.0 4.0
1 3 4vS-2 s A -100 10 110( 5 14 24 V+1 vT -140 30 90|10 5 3vN= ¢A 140 2.0 10.0
6 7 4vy N-2 +6 -100 10 110 6 7 24 V+2 ¢ A -170 0.0 120| 2 4 24 0-2 K 100 0.0 12.0
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22 4 ED105 Basta kontrakt 23 453 Basta kontrakt 24 4~ E10983 Basta kontrakt
Ost v 963 34 S =140 Syd v D108 5v V =-650 Vast v K765 6NT S =990
ov +E7 Alla + KKn65 Ingen +ED
#Kn765 & ¢ v & NT &#Kn765 & ¢ v & NT D3 & ¢ v & NT
« 832 & Kn N7 6 397 «DKn9 & E874 N6 6 2 3 4 « D74 465 N6 9 111111
v D54 vKKn10872 S 7 6 3 9 7 vK954 vEKn762 S66 234 v4 v Kn1083 S 7 11121212
4985 ¢ KKn62 055945 ¢+ D972 +8 O6 6 11109 410985 ¢ K32 062111
&#EK108 #D3 V55945 &EK &D43 V 6 6 11109 &#KKn1076 #9854 V662111
4 K9764 4 K1062 & KKn2
vE v3 v ED92
+D1043 ¢ E1043 ¢ Kn764
%942 #10982 &E2
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poéang
14 6 24 S+2 &A 170 120 00| 2 10 4v0O-1 &T 100 11.0 10|11 6 64 N= vJ 980 12.0 0.0
7 8 la S+2 &A 140 100 20|13 12 3NV-1 +5 100 11.0 10| 1 4 46 N+2 +3 480 10.0 2.0
13 11 Pass 80 40| 1 4 4v V= a5 -620 50 7.0( 2 10 4v S+1 *J 450 80 4.0
12 3 3vO= 49 -140 60 60| 8 9 4v V= *J -620 50 70| 8 9 4vsS= &T 420 6.0 6.0
10 5 3vV+1 *A -170 40 80|11 6 4vO= &T -620 50 7.0(14 7 3NS= »6 400 40 8.0
1 9 4v 0= a4 -620 10 11.0(14 7 4v V= a5 -620 50 7.0 3 5 44 N-1 vJ -50 1.0 11.0
2 4 49 0O= LYy -620 1.0 110 3 5 4v0O+1 A -650 0.0 12.0|13 12 44 N-1 vJ -50 1.0 11.0
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